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QUESTION 1

Which of the types of defects that are displayed in the exhibit use case testing MOST LIKELY to uncover? 

Defects in the process flow during real-world use of the system. 

Defects in the interface parameters in integration testing. 

Integration defects caused by the interaction and interference of different components. 

Defects in the system as it transitions between one state and another. 

A. ii, iii. 

B. i, iii. 

C. iii, iv. 

D. i, ii 

Correct Answer: B 

 

QUESTION 2

Who would USUALLY perform debugging activities? 

A. Developers. 

B. Analysts. 

C. Testers. 

D. Incident Managers. 

Correct Answer: A 

 

QUESTION 3

Which of the following is MOST characteristic of specification based (black-box) techniques? 

A. Test cases can be easily automated. 

B. Test cases are independent of each other. 

C. Test cases are derived systematically from models of the system . 

D. Test cases are derived systematically from the delivered code. 

Correct Answer: C 
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QUESTION 4

Given the following decision table: 

Which of the following test cases and expected results is VALID? 

A. 23 year old in insurance class A Premium is 90 and excess is 2,500. 

B. 51 year old in insurance class C Premium is 70 and excess is 500. 

C. 31 year old in insurance class B Premium is 90 and excess is 2,500. 

D. 43 year old in insurance class C Premium is 70 and excess is 1,000. 

Correct Answer: A 

 

QUESTION 5

You have designed test cases to provide 100% statement and 100% decision coverage for the following fragment of
code. If width > length then Biggest_dimension = wifth Else Biggest_dimenstion = length End_if The Following has been
added to the bottom of the code fragment above. Print "biggest dimension is " and biggest_dimension Print "width:" and
width Print "Length:" and length How many more test cases are required? 

A. One more test case will be required for 100 % decision coverage. 

B. Two more test cases will be required for 100 % statement coverage, one of which will be used to provide 100%
decision coverage. 

C. None, existing test cases can be used. 

D. One more test case will be required for 100% statement coverage. 

Correct Answer: C 
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